60-s bins
1.0
0.5 4
0.0
. 00 .00.000 .00.000
100:000 :00:00- :00:00-
2023_10_061'13 ot 3_10_07100 2023_10.071'06
Time (utc)
60-s bins
1.0
0.5 4
0.0
. 00 .00.000 .00.000
.00:00:0 .00:00- .00:00
7_023‘10'06118 2023-10'07T00 2023-10'07T06
Time (utc)
60-s bins
1.0
0.5 4
0.0

100,000 00.000 00,000
.00:00.0 0:00:00- 6:00:00
10-06T18" 10-07700" 10-07706"

20231 2023 2023

Time (utc)

Latitude

Latitude

Latitude

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=no 49.17-ks, 99%

200 250
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 49.17-ks, 99%

0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
kel
=1
=
S
0.5 1 8
0.0 T
.00.000 .00.000 .00.000
2023-1°'°6T18:00;c)3023-10-0ﬂ00 00;23-10-07T06'~°°'°0
Time (utc)
60-s bins
1.0 1
[
kel
=1
=
S
0.5 1 8
0.0
.00:00.0! .00.000 . 0.000
2023-10-06T‘—3-°°'° 531007700 °°‘°2 ' 10-07706:000
Time (utc)
60-s bins
1.0 1
[
kel
=1
=
S
0.5 1 8
0.0
.00.000 .00.000 .00.000
2023.10-06“3 00 '0023-10-07T°°‘00'002 -10-07T06'~°°'°0

Time (utc)

e N
o u o

|
N
[

-5.0

5.0

N
)

o
o

|
N
[

|
w
o

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

- r-';.-"f .r"r.__."'d

C S

K

200 250 300
Longitude

--saacalc=1 -saamode=STRICT --tentacle=no 46.24-ks,

93%

250
Longitude

--saacalc=1 -saamode=STRICT --tentacle=yes 46.24-ks,

93%

250

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
.00.000 .00.000 .00.000
2023.10-06“3"00;:3023.10-07T°° 00;;023 10.07T06:00%°
Time (utc)
60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
-00.0 .00.000
§:00:00 0:00:0
7_07_3_10-06T1 23-10- 770 23-10-0
Time (utc)
60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
.00.000 .00.000 .00.000
2023.10-06“3:00;:3023.10-07“0‘00'0023-10-07T06'~°°'°0

Time (utc)

u
<)

N
)

o
o

|
N
[

|
u
o

u
<)

N
)

o
o

|
N
[

5.0

N
)

o
o

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

250

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no 49.78-ks, 100%

150 200 250 300 350

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes 49.78-ks, 100%

150 200 250 300 350
Longitude

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0
.00.000 .00.000 .00.000
2023-1°'°6T18:00;c)3023-10-0ﬂ00:00;023-10-07T06'~°°'00
Time (utc)
60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0
.00.000 .00.000 1000
1023-10-05118:00 .002 3100 T00:00-%°23_10_07T06100 00
Time (utc)
60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0 T T
.00.000 .00.000 .00.000
2023-10-°6T18:00;c)3023.10-0ﬂ°°‘00'0023-10-07T06'~°°'°0

Time (utc)

-2.5
-5.0

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

e N
o u o

5.0

e N
o

|
N
[

-5.0

5.0 4

N
)
1

o
o
1

250
Longitude

--saacalc=2 -saamode=STRICT --tentacle=no 41.77-ks, 84%

250 300 350

Longitude

--saacalc=2 -saamode=STRICT --tentacle=yes 41.77-ks, 84%

200 250 300 350
Longitude

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
.00.000 .00.000 .00.000
2023.10-06“3"00;:3023.10-07T°° 00;;023 10.07T06:00%°
Time (utc)
60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
-00.0 .00.000
§:00:00 0:00:0
7_07_3_10-06T1 23-10- 770 23-10-0
Time (utc)
60-s bins
1.0 1
[
°
=
E=
S
0.5 8
0.0
.00.000 .00.000 .00.000
2023.10-06“3:00;:3023.10-07“0‘00'0023-10-07T06'~°°'°0

Time (utc)

u
<)

N
)

o
o

|
N
[

|
u
o

u
<)

N
)

o
o

|
N
[

5.0

N
)

o
o

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

250

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=no 49.78-ks, 100%

150 200 250 300 350

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes 49.78-ks, 100%

150 200 250 300 350
Longitude

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0
.00.000 .00.000 .00.000
2023-1°'°6T18:00;c)3023-10-0ﬂ00:00;023-10-07T06'~°°'00
Time (utc)
60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0
.00.000 .00.000 1000
1023-10-05118:00 .002 3100 T00:00-%°23_10_07T06100 00
Time (utc)
60-s bins
1.0 1
[
kel
=
=
S
0.5 1 8
0.0 T T
.00.000 .00.000 .00.000
2023-10-°6T18:00;c)3023.10-0ﬂ°°‘00'0023-10-07T06'~°°'°0

Time (utc)

-2.5
-5.0

30901030002 FPMB: No SAA Filter 49.84-ks, 100%

e N
o u o

5.0

e N
o

|
N
[

-5.0

5.0 4

N
)
1

o
o
1

250
Longitude

--saacalc=3 -saamode=STRICT --tentacle=no 41.77-ks, 84%

250 300 350

Longitude

--saacalc=3 -saamode=STRICT --tentacle=yes 41.77-ks, 84%

200 250 300 350
Longitude

10°

10°

cts/sec

cts/sec

cts/sec



